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Correct Answer: Electron

QID : 91 - Which is a water soluble Vitamin?
Options:

1) Vitamin A

2) Vitamin C

3) Vitamin D

4) Vitamin K

Correct Answer: Vitamin C

QID: 92 -

Match the items given in column (A) with those in
column (B).

Column-A Column-B
I. Frog 1. Skin
[I. Leaves 2. Stomata
[ll. Earthworm 3. Lungs and skin
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1) 1-3, -2, 1lI-1
2) 1-1, 11-2, 111-3

3) -3, I-1, 11I-2
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4)1-2, 11-1, 111-3
Correct Answer: I-3, [1-2, IlI-1

QID : 93 - How many number of chambers are there in human heart?
Options:

1) Two

2) Three

3) Four

4) Five

Correct Answer: Four

QID : 94 - Which of the following is NOT present in a matured stomata?
Options:

1) Plasmodesma

2) Chloroplast

3) Cell wall

4) Vacuole

Correct Answer: Plasmodesma

QID : 95 - What is/are the cause(s) of arise hypermetropia?
Options:

1) Excessive curvature of the eye lens.

2) Elongation of the eye ball.

3) Focal length of the eye lens is too long.

4) No option is correct.

Correct Answer: Focal length of the eye lens is too long.

QID : 96 - Antibiotics are useful for which type of infections?
Options:

1) Only bacteria

2) Only virus

3) Both bacteria and virus

4) Neither bacteria nor virus

Correct Answer: Only bacteria

QID : 97 - Which one of the following is NOT responsible for water shortage?
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Options:

1) Rapid growth of industries

2) Increasing population

3) Forestation

4) Mismanagement of water resources
Correct Answer: Forestation

QID : 98 - Which gas is major contributor to greenhouse effect?
Options:

1) Carbon dioxide

2) Chloroflurocarbon

3) Sulphur dioxide

4) Nitrogen dioxide

Correct Answer: Carbon dioxide

QID : 99 - Which of the following is NOT a major problem in development of resources?
Options:

1) Depletion of resources for satisfying the greed of few individuals.

2) Accumulation of resources in few hands.

3) An equitable distribution of resources.

4) Indiscriminate exploitation of resources.

Correct Answer: An equitable distribution of resources.

QID : 100 - Which of the following is NOT man made ecosystem?
Options:

1) Orchards

2) Home aquarium

3) Botanical gardens

4) Grassland

Correct Answer: Grassland
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